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This question paper contains 34 questions. All questions are

compulsory.
This question paper is divided into two parts — Part — A and Part — B.
Part — A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.

Question Nos. 1 to 16 and 27 to 30 carries 1 mark each.
Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
Question Nos. 21, 22, and 33 carries 4 marks each.
Question Nos. 23 to 26 and 34 carries 6 marks each.

There 1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks, 1

question of four marks and 2 questions of six marks.
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1. (a) ar auT @9 Uh BH % AIPER  qUT 3 : 2 % I1AId ° o9-g1 sied & | SThl

Tt G5t shEeT: % 90,000 TR 2,10,000 off | 3= 1 378, 2022 1 wiosy §

@Y % 1/59 W % foru fareft bt weh T amgier s | fiareft st 4sh % ferg
% 1,50,000 TE | Torareft 3 ot ox wH 1 @nfa w1 g g

(A) *3,00,000 B) ¥ 7,50,000
(C) %1,50,000 (D) ¥ 30,000
HAYAT

(b) < qeT fe TTEIER & @ 5 : 3% U § 1Y Siedl § | 3= o § 3/83 9T
& fotu forn 1w T Areier s, fSEent 2/84T Wit 39 ofin & e 1/84T W
T & v fema | s, e e femm 61 7@ oy T St g
A 3:2:3 B) 2:3:3
(C) 5:5:6 D) 9:1:6

2. T, GO qe BT T HH o HTEIER 9 9UT 3 : 2 ¢ 1% I1ATd H oY ded 9 | gHA BH
T YT B T | g <l Fafagi bt fafr 6 gue @ % 30,000 33 9 | AW HigeRi A
Tt foren fo6 3@ o yram i anfies fopwat & weet o <t wmfeq & wmy <heeh fopam
@ | % 30,000 T FEAEOT = 0§ hE @1 § foman SR 2
(A) FAT T RO G
B) gu = fsaTes *1 @I
(C) guH 1S @Il
(D) GAT 1 =] @I

3. afrerem (A) : dISiel WA AR o HeT FeY B S SIGER hl o sied % oY Tgnd gv

2 Tordent gemer wefl g steren vl o fore foneht wop gru fpan st aeman 2 |

FROT (R) : 9f¢ T HISGR THH Yo 1 IS ATHR HTAT § T Y o A1 Tl
HAT 7, Al T8 IHBT AGT HUT qUT @™ & 3Aford qeft A9 1 Pra= w4
AT |

frefefiaa o @ g€ foepea o1 =em AT

(A) THI (A) 7T (R) T £ |

(B) THI (A) 7T (R) T @ |

(C) <THI (A) 7T (R) T & 72T (R), (A) il Tl e 2 |

D) THI (A) 71 (R) T8l € 71 (R), (A) 3! 92 AT = 2 |
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PART -A

(Accounting for Partnership Firms and Companies)

1. (a) Nita and Samar are partners in a firm sharing profits in the ratio of
3 : 2. Their fixed capitals were T 90,000 and ¥ 2,10,000 respectively.
They admitted Mitali on April 1, 2022 as a new partner for 1/5th
share in future profits. Mitali brought ¥ 1,50,000 as her capital. The

value of goodwill of the firm on Mitali’s admission was : 1
(A) ¥ 3,00,000 B) T7,50,000
(C) %1,50,000 (D) 30,000

OR

(b) Bina and Ria are partners sharing profits in the ratio of 5 : 3. They
admitted Siya as a new partner for 3/8th share which she acquired
2/8th from Bina and 1/8th from Ria. The new profit sharing ratio of

Bina, Ria and Siya will be : 1
A 3:2:3 B) 2:3:3
(C) 5:5:6 M) 9:1:6

2. Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.

% 30,000 will be transferred to which of the following account : 1
(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts
(C) Suman’s Bank Account (D) Suman’s Current Account

3. Assertion (A) : Partnership is the relation between persons who have
agreed to share the profits of the business carried on by all or any of
them acting for all. 1

Reason (R) : If a partner carries on any business of the same nature and
competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.

Choose the correct option from the following :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(D) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
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4. g, e qen A Tk BH o AEER 9 G915 : 2 ¢ 3 % 1T H AW -1 died 9 |
30 S, 2022 %! @il 1 9 71 T8 | ArEier] Horg § yana™ ot foh foret ot wmgier i
g & 9 gy i fafer 7o wH & 71 H I8eh W 1 0T Freel fF St ok 3fed o
H ¥ % 10,000 TR hT STRAT |

et fF awt % A 9
T FwIe /A ()

31 4, 2020 1,20,000

31 7, 2021 (50,000)

31 94, 2022 1,70,000
Ty 6t farfer qes e o et o1 9T o
(A) ¥ 35,000 B) 9,583
(C) 28,750 (D) % 8,750

5. %10 % U gHaT 31w o gt wlt win <ff 78 oft e fm W % 6 1 A Tk
ST I RN BT PTAE T B T g0 H o w1 | 389 = 8 9 forg ~gaam o W
oA foifera femam s wehaT 2 2
A 4 B) 10
G %16 D) %6

6. Twed W fifird T 10 T % 200 THT 39 T T 3 Wit 3797 hY T AT 1 I
T T KL Torm | % 2 wfa arer <At arfeam A anft wift € S oft | s R
o fomaft Tfsr sht @it 3rer gt < A ey | Shi St 2
(A) 2,000 B) 1,600
(C) % 1,000 D) 2,200
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4. Khushi, Namita and Manvi were partners in a firm sharing profits and
losses in the ratio of 5 : 2 : 3. On 30th June, 2022, Khushi died. The
partnership deed provided that on the death of a partner, her share of
profit till the date of death was to be calculated on the basis of average

profit of last three years less ¥ 10,000. 1

Profits for the last three years were :

Year ended Profits/Loss )
31st March, 2020 1,20,000
31st March, 2021 (50,000)
31st March, 2022 1,70,000

Khushi’s share of profit till the date of her death was :
(A) 35,000 B) T9,5683
(C) 28,750 (D) T 8,750

5. An equity share of T 10 fully called up on which ¥ 6 has been paid was
forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A) %4 B) 10
(C) %16 D) %6

6. 200 equity shares of T 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) 2,000 B) T1,600
(C) %1,000 D) 2,200

67/5/3 AN Page 7 P.T.O.
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7. 3, Toom qUT 9o U HH % HTEIGR & qUT 4 ¢ 3 @ 3% TG H @Y died ¢ | 1 37194,
2022 ¥ I8 GATY I Th F1 HIHGR SHAT | 3G, [ooM, Fa TAT GUTY 1 F41 4
forTo 31gaT 3 : 3 : 2 : 2 BAM | 31 W, 2022 Wi 3 TRufer ferewor =1 3gwor T

Wﬁﬁmw% :
®) ®
frow SarR-wgr@ @= | 80,000 | & @R ge= % 80,000) | 90,000
TS & JaA9 T 91 IqR-=rgra =’ 1 F | & S 91 oi@ieh 9el g ?
A=
Fran T\ S iy
®) ®)
Q) | e aR-=ee T= @ ™ 10,000
NRLIRIEERCI) 10,000
B) | e IaR-Tee 999 @rdl I 80,000
3 1 ST @ 32,000
[EEREAR TG 24,000
Ta 1 Yoft @ 24,000
(C) | YTYcHTHA GTaT T 10,000
ey Sar-=gE = @ 10,000
D) | e SaR-<eT T=F G ™ 80,000
Fraw @ 10,000
3 o1 STt @ral 28,000
[EEREARTIRCI] 21,000
Ta o1 Yoft FaT 21,000

8. (a) 3Afha, gitra aun fhama TmgeR E aum 2 : 2 ¢ 1 % 37U H o-B1H o1 fawed

67/5/3

I & | G T HHIE S b IvETd g A T 15% HHNE I 7 | HHSA ¢ A

T8 3G & % 9,20,000 7 | it 1 <7 SHefie g

(A) %1,20,000
(C) 48,000
YT

AN

(B) 1,38,000
(D) 55,200
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7. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below :

Amount Amount
Liabilities Assets
® ®)
Investment 80,000 | Investments 90,000
Fluctuation Reserve (Market Value T 80,000)

Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?

JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. })
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation A/c 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital Alc 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital Alc 21,000

8. (a) Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net
profit after charging such commission. The net profit before charging
commission is ¥ 9,20,000. The amount of commission payable to

67/5/3

Sumit will be :
(A) 1,20,000
(C) T 48,000

OR

AN Page 9
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(D) 55,200
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(b) Y, o qUT TR TH BH o TR B AT 2 : 2 : 1% A H o9 -B sied 7 | 31
AT, 2022 1 HUTe T Y o foTT 3eh @1 o <1 9e7 | YSit O AT b1 @t 5%
yfa o &t g 10% ¥fd o & & T | TR wmEh O e T2,00,000;
% 1,00,000 @1 T 50,000 2ft | Ffe T Gare o fore srrerseres Tomisrn gfafs grft -

AT

P Tmatyn | swatw
® ®

(A) | b1 =T @A mH 2,000
Y T AT @Il 1,000
3TR T =T @ 1,000

B) | i 1= @I ™ 3,000
Y 1 T @Il 2,000
3TR 1 =Te] @l 1,000

(C) | i =1 ISit =@man T 2,000
PR IRCIGl 1,000
TR T Uit e 1,000

D) | i =1 ISt @@ T 3,000
EPEoR CIRCIGl 2,000
3TR T Yoft e 1,000

T heufves uftfeufa o1 ufe e g6eh STTUR WIS |, 9 7T 10 T 3 T :
forem, i e st e wd I AR § 195 ¢ 3 1 2 % AU B oA siedt § | ShI
Trft 4Sft shEeT: 7 1,80,000; 3 1,60,000 €T % 2,00,000 8 | 31 9T, 2022 ! THT
LAY § e 3 yes fommet & 31=a § 3 7,500 <1 T8 foma |

9. WTICH Ford T USht W 10% STk g T AT ¢ o1 JTae 7 | 3i7ar 6t Isft v =t
wfsr geft
(A) T 18,000 B) 16,000
(C) 20,000 (D) 10,000

10. 3THHd AEHT oh1 BT fS1 R 31701 9T &A1t Sht 0T s STt &1
(A) 3% wEH B) 4% wE=
(C) 7% H&H D) 67N
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(b) P, Q and R are partners in a firm sharing profits and losses in the
ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on
capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; ¥ 50,000 respectively. The
necessary adjustment entry to rectify the error will be :

JOURNAL
Particulars Debit Credit
Amt. R) | Amt. R)
(A) | P’s Current Alc Dr. 2,000
To Q’s Current A/c 1,000
To R’s Current Alc 1,000
B) | P’'s Current Alc Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital A/c 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital Alc 2,000
To R’s Capital A/c 1,000

Read the following hypothetical situation and answer Question Nos. 9 and
10 on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are ¥ 1,80,000; ¥ 1,60,000 and
% 2,00,000 respectively. For the year ending 31t March, 2022, Nitya
withdrew % 7,500 at the end of every quarter.

The partnership deed provided that interest on capital will be allowed
@ 10% p.a. The amount of interest on Ishita’s capital will be :

(A) T 18,000 (B) T 16,000

(C) 20,000 (D) 10,000

The average number of months for which interest on drawings will be
calculated, will be :

(A) 3% months (B) 4% months

(C) 7% months (D) 6 months
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11. (a) 3maem fafes 33 10 99 & 1,10,000 3191 &1 52 20% Hiftem w ftfia
Topam T e, 3 2 ufd 319 1 oy e a9 3 3 gid 31 i 3rf<m A &
A T S I ET S AT | 3791 JT07 @I o STHT 9&T | Wit bl SRRt
(A) % 5,50,000 B) % 17,70,000
(C) % 2,20,000 (D) % 5,00,000

Froran
Gb) IR HRIT TR R ?
(A) T FreTeh T o & 373 God &9 8 gea=oiy T8 g |
B) e doft 3rfirem 45t =1 o8 v & @ wim T R |
(C) @t o sfgfiamt o & s doft & srferes Toft shroeft wehfora =i o6t wemelt |
D) IS > g TEl =i T g N et st & faeed % wma € wrm S
bl B, Yoil T HEelal 2 |

12. (a) U, U QT T Ush HH o TR & AT 5 : 3 : 2 o IIITd § i T faum=i hd
211310, 2022 § I AT ! SO sied o1 v foran | 38 faftr =1 s
TE 1 T 2,00,000 T Y T AT A - @ A T 4,00,000 T STHT AT T |
AT TrTer 31T | Ui o HRoT SRl o ToTe Ustmmn fafs gnft

AT
foramm Tm A () | WAy Q)
A) | 9= E9g @ral ™ | 2,00,000
AT - @ 2,00,000
(B) | uH w1 ISH @ am 80,000
T 1 S @ am 20,000
T o1 Yol @ 1,00,000
(C) | oM™= §=g @ral W | 2,00,000
AT -1 e M | 4,00,000
TS 1 Uoft @ 2,00,000
TH T Yl @A 2,00,000
T T It @ 2,00,000
(D) | Fm= F9F @ral W | 2,00,000
AT - @ a9 | 4,00,000
TS o1 Yol @ 3,00,000
TH 1 Yl @Tar 1,80,000
T o1 Yol @t 1,20,000
areat
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11. (a) Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final

call of ¥ 3 per share. Share Forfeited Account will be credited with :
(A) ¥ 5,50,000 B) 7,770,000
(C) %2,20,000 (D) ¥ 5,00,000
OR
Which of the following statements is true ?
(A) The shares of a public limited company are not freely transferable.
(B) Paid up capital is that part of the subscribed capital which has
been called up.
(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.
(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.
L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They
decided to share profits equally with effect from 1st April, 2022. On
that date, there was a balance of ¥ 2,00,000 in General Reserve and a
credit balance of ¥ 4,00,000 in the Profit and Loss Account. The
Journal Entry for the above on account of change in profit sharing
ratio will be :
JOURNAL
Particulars Debit Amt. | Credit Amt.
®) ®)
(A) | General Reserve Alc Dr. 2,00,000
To Profit and Loss A/c 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000
To L’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000
To L’s Capital Alc 2,00,000
To M’s Capital Alc 2,00,000
To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000
To L’s Capital Alc 3,00,000
To M’s Capital Alc 1,80,000
To N’s Capital Alc 1,20,000
OR
AN Page 13 P.T.O.
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(b) e, oTS YT IS BISER & qUT 2 : 3 : 1 % U § A—g1 sied 8 | 1 313,

2022 H 3 9iasT § i b1 3 : 2 : 1% U H die o1 iy foram | amw-
BT T s § afteda & 999 @rdi § gt 9 fohu Tu s %1 o, ot
qeaehi § f JehR & fopam wmam
(A) TTIER % YSft @l o 19 U § @l ik |
(B) IAHCHATHA GTd o ATH U&7 H Tl hieh |
(C) e WA o ST UeT | GellH! hish |

(D) dERT % Ysil @Il & T 9T | Gl Hieh |

13. 3mfeea, rfima aum 3ifehd e w1 o HISIgR 9 G901 4 @ 3 : 3 % 3TIUId H oIy -gI died
& | 31 9T, 2022 1 %Y W forered &1 T | foreres ufha i g0 & & fore smfeea i
frafea 1 78 froek fow 38 T 42,000 1 wrfefires < o1 | anfecy foeren =921 A
T o foTT wgHa & T | e W arEftaes &9 % 33,000 7, fSEewt yrae anfee 3
forar | amifeea o doft @ o ST 9er § @t < Steareft iy gnft
(A) 42,000 (B) 33,000
(C) %9,000 (D) % 18,000

14. &, @ qUT T I WA % o fqeed & T0g Ffad o T 40,000 &1 = 3 9 form @
T geqrand femarm St 2
(A)  GHeATR STl (B) =t @
(C) @T3ieri & ot @ (D) e @rar

15. (a) UH o Reht e weh fafte srafer s aufed w3t st i Sfiad safy
T Thgwd 31raT fohvdl § foharm ST 2, 39 €4 H W 914 &
(A) et o
(B) ferfare o <t sRoT
(C) W= o=
(D) e o
Freran
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(b) X, Y and Z are partners sharing profits and losses in the ratio of
2 : 3 : 1. They decided to share future profits in the ratio of 3 :2 : 1
with effect from 1st April, 2022. At the time of change of profit
sharing ratio, unrecorded furniture will be recorded in the books of
Accounts by : 1

(A) Debiting it to Partners’ Capital Account
(B) Debiting it to Revaluation Account

(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

13. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 31st March, 2022, the firm was dissolved. Aditya was
appointed to complete the dissolution process for which he was allowed a
remuneration of ¥ 42,000. Aditya also agreed to bear dissolution expenses.
Actual expenses on dissolution amounted to ¥ 33,000 which were paid by

Aditya. Aditya’s Capital Account will be credited by : 1
(A) % 42,000 (B) 33,000
(C) T9,000 (D) 18,000

14. On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

15. (a) The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the
company are known as : 1

(A) Secured debentures

(B) Specific coupon rate debentures
(C) Redeemable debentures

(D) Convertible debentures

OR
67/5/3 AN Page 15 P.T.O.
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| (b) TR % ey § f ¥ | i o1 he wE T R 2
(A) FoET 1 ftea e fopan S Ehar 2 |
(B) O T fieT 5 W TEH foman S EeRaT B |
(C) Tt 1 fontee wnfeees wfafa & &9 & fpen S ashar 2 |
(D) o 1 fotee Srferges o fea ST AR R |

16. AfR 3tfer fafiee 3 3tHg fafies @ % 3,60,000 Ho st afewafaat o1 s femam aen
% eI T P T 100 T&H b 11% FRITHAT b1 10% g R Fiferd wees o |
sfifier rel fafiree 6 gra fifira ot <6t o of -

(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

17. (a) %, A, SHuct AT foce Teh ®H o AR I qT 5 : 3 : 2 : 2% I |
T died ¥ | 31 AT, 2022 1 HAA AT & T | T, TN a1 e 1
s o T SUeR-SRIeR sied w1 ol o | et 1 sanfafa o o i wfa
T Feamehd 3 9,00,000 foham 7= |

3T} U 1 TTEAT | S §Y HAA ol HATHI T ST 6 R@ieh i
3TevTeh U= Siafy Hife | =g frofr foran man 2 o6 wnfa 61 % 6 geaest §
URIEEIE LI

Jreran

(b) 3T AT AT AR & AT 3 : 2 % U § o died o | T I AW § 1/4d
qrT % fore wH o yerr e | $u 3w OSft W w9 § T 40,000 @1 | @A,
eIl YT SAATST < JAHeATR TG § Hefed vl SRSl o qeaTd 31qd
e Tiar &t doft shEE: % 60,000 €T T 40,000 ot | I HEAld g3 foh wRieri A
Yt U A forwee S7uTd < STER B |
T FTEERT 1 PTAH sl ST dTell 1Y 39 g1 A1 S arelt doft shY Tor

HifSTT auT 38 feTu Strergares Ustra=n gfafy /wfeafeat Hifs |
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(b) Which of the following statement is incorrect with respect to
debentures ?

(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures

issued by Premier Auto Ltd. were :
(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

(a) Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5: 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’s retirement. It was decided not to
show goodwill in the books of the firm.

OR

(b) Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
T 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.

Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the
same.
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18. 3TN AT 3T AR & AT 3 : 2 % U H TH-FIH died o | I8 oy § 1/49
AT % TTC 77 1 U TSR SR | B 6 Tl BT Gedih Aoy % i aut %
3 o SR T HET AT | BH 61 34T 3¢ A T 20,000 o7 | B4 & T 50,000 T Gait
e o quT AmE= g g 10% oY | T gy r T @t it <6 afsn Y o

HINT |

19. (a) 3Trem, feum den Ugd U BH o HEeR & 9UT 2 : 3 1% 31U § oty Sied o |
aTgier) THEid % AR Tad 1 T 40,000 9 6 T < 7 ot | 31 AT, 2022
1 THT gU Y | %H T I o9 T 1,20,000 T |

31 AT, 2022, %! qUT U Y o foT¢ ®H 1 ety -g1f i @ dam Hifs |
Jreran

(b) 3TRaet qur Ffaet dTggR & quT 3 : 2 % U H M-I dfed o | 3T Wt
doft shET: T 1,00,000 €T 80,000 & | dSft W 6% anfies <t & <ot <Al wewfd
7% | Tafaga =t 7 9,200 =1 anfifes aam feam s o | ¥ 2021-22 # GG | =
1 AT B g ] R ST Iad T % 9T g o 2 1,20,000 T |

31 AT, 2022 ! THTG g Y < foT0 BH 1 AW -2 fafars @ dom hifse |

20. e fafiee 3 Sfy fafee & 7 18,00,000 &t gt qem % 2,00,000 i
AT T 36T 3 15,00,000 % 3T GoI W Toham | Freria fetfiree 3 afdr & ram & forg
% 3,00,000 &1 T fafma 73 TR fram qem 9w &1 faem T 100 Y& % 10%
FOTHAT Sl 20% Sfifeem W frifid wees foham | Frerfa fofiee i geaent § Swied oHeH]
1 Teveh UsHTH=T TTfSat HifT |
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18. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was T 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen. 3

19. (a) Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
% 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3

OR

(b) Akhil and Nikhil were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were T 1,00,000 and ¥ 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to T 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022. 3

20. Neon Ltd. purchased assets worth ¥ 18,00,000 and took over liabilities of
%2,00,000 of Zenith Ltd. for a purchase consideration of ¥ 15,00,000. Neon
Ltd. paid the amount by accepting a bill of exchange of ¥ 3,00,000 and the
balance was settled by issuing 10% debentures of ¥ 100 each at a premium

of 20%. Pass necessary journal entries for the above transactions in the
books of Neon Ltd. 3
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21. T fafies T 10 R o dwar 3t 4§ fave T 9,00,000 3t 3Aferepd dsf o @ st
2 | HEE T 80,000 THAT 37 &% ffma % fou e smmba w0 g g o
foparm | st W 79,000 TwAT 3791 o fTT 3TEed I gT | At ATeHTE 7T ft TS aen
T 81 718, hae 4,000 3730 o Teh STNURH, 37 1 BIeh e T 3 Ifd 7% hi gl
T ST FTSHT BT TAH T {hAT | 37 370 BT 7201 L foram |

(a) wrot FrffRm, 2013 6t e 110, AT 1 % TR ‘39 IS ol e o

feurfer feremor o gurfgu |
(b) & % for @i o Few ot AR R |

22. W, o qe AR U fehTer St wefi H1 IcuTeT N aTelt Tk FBH % AR o | o
2:2: 1% U § -1 siied A | 31 7, 2022 1 3eh1 fefer ferawor o yepm & o -

31 W, 2022 <kt O, T a1 TR o feafa feraron

FaTg o afEEtEt it
®) ®)
it - LR RCRENIET 1,25,000
9 - 50,000 offfr qer wed 1,50,000
] — 1,25,000 TR 40,000
IR —  1,00,000 | 2,75,000 | =i 35,000
T §9 1,25,000 | & T Tehg 75,000
fafir= seR 25,000
4,25,000 4,25,000
30 S, 2022 ! ‘F’ I I B TS | FTHIERT Tod o STTHR IHeh AT ITUTTHRRT 1
EREIAIOR

G IS T 12% e QW S |

(i) AT § 35k HFT % % 12,000 |

(iii) g 1 fafer 7 @ | IueRt vy fSEehY Mo fasha W SmeR WAt ST oft |
1 3194, 2022 & 30 SH, 2022 T foska ¥ 62,500 o1 | 31 A, 2022 I THIG

B Y & fIu % o1 fashar qem & kA  5,00,000 T 3 1,25,000 AT | 36
I AR 1 T T o feTu, w1 deft @ dar i |
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21. Shiv Ltd. was registered with an authorised capital of ¥ 9,00,000 divided

into equity shares of ¥ 10 each. The company issued a prospectus inviting
applications for issuing 80,000 equity shares. The company received
applications for 79,000 equity shares. All calls were made and duly
received except the second and final call of ¥ 3 per share on 4,000 shares
held by Anu. These shares were forfeited.

(a) Present the ‘Share capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.

(b) Also prepare ‘Notes to Accounts’ for the same. 4
22. P, Q and R were partners in a water dispenser manufacturing firm. They
were sharing profits and losses in the ratio of 2 : 2 : 1. On 31st March,
2022, their Balance Sheet was as follows :
Balance Sheet of P, Q and R as on 31st March, 2022
Amount Amount
Liabilities Assets
® ®)
Capitals : Plant and Machinery | 1,25,000
P - 50,000 Land and Building 1,50,000
Q - 1,25,000 Debtors 40,000
R - 1.00,000 2,75,000 | Stock 35,000
General Reserve 1,25,000 | Cash at Bank 75,000
Sundry Creditors 25,000
4,25,000 4,25,000
Q died on 30th June, 2022. According to the partnership deed, his legal
representatives were entitled to :
(1) Interest on capital @ 12% p.a.
(11) ¥ 12,000 for his share of Goodwill.
(ii1) His share of profit till the date of death was to be calculated on the
basis of sales. The sales from 1st April, 2022 to 30th June, 2022 were
T 62,500. The sales and profits of the firm for the year ending 31st
March, 2022 was T 5,00,000 and ¥ 1,25,000 respectively.
Prepare Q’s Capital Account to be rendered to his legal representatives.
67/5/3 AN Page 21 P.T.O.
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amoft feafires = % 10 Y% % 1,00,000 FHAT 371 S 10% Sftrm w frifaa &
o ToTQ 31Tarem ST fere | it ot e et wepm & S o
JTaEA QT 3718 W — % 4 ¥fd 3191 (% 1 ffeem afza)
T AT W — T 4 T 31
gudl T At~ Free - % 3 Wi 3w
1,50,000 37T & feTu 31mae wTed gU qut @xft 3Taeshi 1 HUTde 3R W
3Teiest L Team e | srfafer e Tl 61 FHREISE AEEIE ) iy § 9
foram | wes st 9k, fSER 600 379 o fau sAree fomam o, 3 wem g
1 YIAM A& hAT | I8 AT HT ST HL o1 T | ot qer tfem A st
T ATl T TS off | gor fohw T 3 A & 3 37w w1 T 8 Wi 39w quf wed :
fotfira e feam mm |
STET JTEvs B ITEd AT WAl a1 qaed AT WAl @ietht ITIe
et % foru amvft feafires <At qeaehi # STTavaeh IS wiafsat i |
Jreran
o afiferforn & arer o g1 qen & foe TTu 3t < qA:friee & fetu stawess
ST Stsat it -
() fafm fafiee 3 2 10 7@ % 10,000 3731 1 fo=g T 1 i o sfiftiem w
fotfira foram T e, % 2 Wi 37w <A1 gedl der stf=m A=A &1 PTae T
TR BT T TOTAT | 5 3T H " 60% I o 3 7 Wi 379 qui wed gt
& fean |
() <& fafies 93 10 I3 & 800 M w1 59 W T 8 fa 37w #i U 9,
T 3 Wil 3797 31 ToH ATSHT 1 STTAH 7 i T g7 R fofam | aft g fepe
T 3790 T % 12 Wit 3791 9t Wea qA:Frifia o6t feam e |
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23. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of

% 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — X 4 per share

On second and final call — X 3 per share

Applications for 1,50,000 shares were received and pro-rata allotment

was made to all the applicants.

Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not
yet made. Half of the forfeited shares were reissued at ¥ 8 per share

fully paid up.

Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever

necessary. 6
OR

(b) Pass necessary journal entries for forfeiture and reissue of forfeited

shares in the following cases :

(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up. 3

(11) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the

forfeited shares were reissued for ¥ 12 per share fully paid. 3
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24. (a) YA, UG a7 FTT Uk HH b HISIER & AT 5 : 3 : 2% U § AT sred
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g | 31 °H, 2022 1 ITehT fRufa foawor fe wepm & o
31 |, 2022 i A, Tge qen s o feufa foaro

s afn . afn

®) ®)
9aft : PLECIRCE 1,70,000
HHA 1,20,000 I qer wefiad 2,60,000
Tgd 1,20,000 Wik 1,00,000
BiLE] 1.20.000 | 3,60,000 80,000
= T=d 1,20,000 50,000

faftr= ermeR 1,80,000

6,60,000 6,60,000

IR Fafer b1 Uge Sart-ga &1 7 qer e vt o wenhd 58

(i) s @fa T geaTeRd % 3,50,000 feRam T |

(i) ol omert o gfffera T 10,000 Y T we oft faent g & T s
T | 37q: TAfAREd L T 73T | T2leh 1 FodTehd X 90,000 TeraT 71T |

(iii) T w9 1 G T 2,10,000 Frerifea Y 718 qen @R AUTEISH WY HISERT %
Y fTe 31T H T AT | 39k foTU. STTEavIshai{aR Uhg s St
1T $HhT YT ThaT SR |

(iv) TEe ol < R ST FEATT IHeh 0T WA H T e SR |
Tget <l AaT R W G eoh @1 qeT TRieRi o goil @ dam i |

YAt
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24. (a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and

losses in the ratio of 5 : 3 : 2. On 31st March, 2022, their Balance

67/5/3

Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,

2022
Liabilities Amount Assets Amount
Y )

Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neeraj 1,20.000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000

Sundry Creditors 1,80,000
6,60,000 6,60,000

On the above date, Rahul retired and following terms were agreed

upon :

(1) Goodwill of the firm was valued at ¥ 3,50,000.

(11) An item of ¥ 10,000 included in Sundry creditors is not likely to
be claimed and hence written off. Stock was valued at ¥ 90,000.

(i111) Capital of the new firm was fixed at T 2,10,000 and the same
will be adjusted in the profit sharing ratio of the remaining

partners. For this purpose the required cash will be brought in

or paid off as the case may be.

(iv) Amount payable to Rahul will be transferred to his loan

account.

Prepare Revaluation Account and Partners’ Capital Accounts on

Rahul’s retirement.

OR
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(b) AT T forRIY WTPER & qAT 3 : 2 % U H T -B1H Sled & | 31 9, 2022
=1 371 fRafa 31 A, 2022 <l ATefiy qen o <1 ferfa feremor faaror frg o -

31 A=, 2022 <hi it qorn foorw = feufa feemm

N afn . afw

®) ®
TR 30,000 | s T g 50,000

J1ea ferteft fora 20,000 | 2R 80,000

oot - T : G 3O o fIUIEgE 2,000 | 78,000
Y 3,00,000 Wi 1,12,000
fosy 2.00,000 | 5,00,000 | wefd 3,00,000
AT -ETH @ 10,000
5,50,000 5,50,000

1 3791, 2022 1 A9 H Y d 91 o fore f wrdt 92 A= <61 Uk 991 Egier’ s

AT e

(i) == I OGS % T % 1,00,000 e @t sfiftem % st wm % forg

% 50,000 TG T |

(i)  I7ea forsteft feret w1 sprram = feam s |

(iii) TTh ST GeAThA T 12,000 3Terh 9T 70T |

T % A9 O H < JEdehl § STTaeh U= Tfafsat i |
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(b) Ashish and Vishesh were partners sharing profits and losses in the

67/5/3

ratio of 3 : 2. Their Balance Sheet as at 315t March, 2022 was as

under :

Balance Sheet of Ashish and Vishesh as at 31st March, 2022

Amount Amount
Liabilities Assets
® ®
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 Less : provision for
Capitals : bad debts 2,000 | 78,000
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss A/c 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring T 1,00,000 as her capital and ¥ 50,000 as her

share of goodwill premium in cash.
(1) Outstanding electricity bill will be paid off.
(ii1) Stock was found over valued by ¥ 12,000.

Pass the necessary journal entries in the books of the firm on

Manya’s admission. 6
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25. fafy= afeeafi (she & BIgHL) TAT 1A &1 CHATSTT T TR @I H T il

% TTETd 31 AT, 2022 i e quT gud 1 Areert BH % foeed ® gu fe o &
U STTervares U Sratdat SR -

(a) SfFET= T 1,00,000 T RTH T 90,000 T fo= |

(b) % 2,00,000 % TSR = ¥ 3,00,000 1 T T A 3794 € o f Foe & =
Sl

(c) ¥23,000 i ush afcrafa i foraept o &l fokam T o, gu= 4% 17,000 §
fotam |

(d) % 2,000 S ST BT PTAH Bt 3 T |
(e) ¥ 21,000  Seh 0T T YT HT Fedm 74T |
(H foEeT | 7,000 FFHEE |

Fasfiet fefiee 7 3 100 w9 = 2,000, 10% Fora=1 o1 fartae foam | o ferfeat o
FROT9E] o FTA 61 SAT9Tes U= gttt Hif

(a) 9 RO T T8 10% feEm 9w fopam e qem g3eht 3ed 5% & Hiftem w
HETE |

(b) & T T A 5% &g W fomat T a1 3961 I 10% FifEd W g |
(c) T8 U] ST FHTHA Toge W TR TR qer 3kt IMe 10% it s g |

WA - ©
e - 1
(forsfrar ferarmott 1 fargeiwon)

g fafies 1 =reg gmfaat € 2,00,000 @@ =Te] <@ % 1,50,000 & | AfE 38661
Hrfefiet ISt ST1ad STIUTd 6 T &, 1 $Heh! S=Te o 3T 8if -

(A) %2,00,000 B) ?3,00,000

(C) % 2,50,000 D) % 1,50,000
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25. Pass necessary Journal Entries for the following transactions, on the
dissolution of a partnership firm of Kavita and Suman on 31st March,
2022, after the various assets (other than cash) and third party liabilities
have been transferred to Realisation Account.

(a) Kavita took over stock amounting to ¥ 1,00,000 at ¥ 90,000.

(b) Creditors of ¥ 2,00,000 took over Plant and Machinery of I 3,00,000
in full settlement of their claim.

(¢) There was an unrecorded asset of ¥ 23,000 which was taken over by
Suman at 3 17,000.

(d) Realisation expenses ¥ 2,000 were paid by Kavita.
(e) Bank loan ¥ 21,000 was paid off.
(f) Loss on dissolution amounted to ¥ 7,000. 6

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following
cases :

(a) When debentures were issued at 10% premium, redeemable at 5%
premium.

(b) When debentures were issued at 5% discount, redeemable at 10%
premium.

(¢c) When debentures were issued at par, redeemable at a premium of
10%. 6

PART-B
OPTION -1
(Analysis of Financial Statements)

27. The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue

from operations will be : 1
(A) % 2,00,000 (B) < 3,00,000
(C) % 2,50,000 (D) 1,50,000
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28. (a) T d A HN Y forita ferawor fergeror 3 v (faftri) T 2 2
() g vaTE fom (i) I fermo
(i1) Tefa foemor (iv) AU fergersor
A) @ 41 () B) (1) 7T (1)
(C) (i) @ (iii) D) (iii) 7T (iv)
AT

(b) FEATHH AT HYT GE AR R ?
(A) A JIUTAT <l TUHT STH 6T AbTeA INEFLTAT hl AU & forw
ST R |
(B) e 37UTA 1 3TEA SAtel STTUTA b ATH & oY ST ST 8 |
(C) VRIS 3THTAT 1 TVMT S8 gRT Cleehlel H $6eh UM o WM hi
&TaT o1 FIeTo 3 & fer AT ATt 2 |
(D) T AT ST sh1 (R o1 3g / et TREsil & wrse e © |

29. TUchg TaTE foremor GIR vt & 3293 A fy § & s #ff fafeafert semem nfafafemi 8 2
(1)  wfengfert o STed TS qeT S |
(i) AR feaeTy SR T YT |
(iii) TEed qUT I | YT e |
(v) e o g o Torw 37 b1 forie |

A) (), Qi) qT (iii) B) (i), (iii) TUT (iv)
(©) @), (i) 7T [Qv) (D) (i) 7 (iii)
30. (a) T &M o1 oFeH H1 Ui e YT 781 T 2
A) T HTHT
B) T =1 fasra
(C) awar 3791 o frfee gy el w1 atfemrgm
(D) FROTHAT BT IMEH
A
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28. (a) Which of the following are not tools of Financial Analysis ?
(1) Cash Flow Statement (1) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
(A) @) and (1) B) (@1) and (@v)
(C) (1) and (ii1) (D) (@ii) and (iv)
OR

(b)

Which one of the following statement is incorrect ?

A4)

®B)
©)

D)

Liquidity ratios are calculated to measure the short term

solvency of the business.
Current ratio is also known as Acid Test Ratio.

Solvency ratios are calculated to determine the ability of the
business to service its debt in the long run.
Proprietary ratio expresses the relationship of proprietor’s

funds to net assets / total assets.

29. Which of the following activities are operating activities for the purpose of

preparing ‘Cash flow statement’ ?

@
(i1)
(ii1)
@iv)
A4
©)

30. (a)

67/5/3

Dividend and Interest received on securities.

Payment of employee benefit expenses.

Cash receipts from royalties and fees.

Issue of shares against purchase of machinery.
(1), (i1) and (iii) B) (1), (i) and @v)
(1), (11) and (1v) (D) (1) and (ii1)

Which of the following transaction will result in no flow of cash ?

A4)
B)
©
)

Purchase of machinery
Sale of investments
Acquisition of machinery by issue of equity shares
Redemption of debentures
OR
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(b) ke FaTE ferarur Qo Y ST o Sewa & T — 11 ¥ fou ¢ oAl w1 wam -1 &

& 7T Ikt Wl fafater | firem Hifv -

@ - 1 @ - 11
(a) Frorr fafafy () AT T A
(b) forchta fefafer (i) AT 1T
(c) ST Tiatafer (iii) TEGT h farshl & v Tehg

@ (b ©

@) aGi) @ a6
B) @ @© 3G
© @© (@) a6
O @ @ O
31. et srfrfaem, 2013 Y STFgE 11T, 9 1 % 319aR e wel o et & ferfa foamo
H hIF ¥ Y& 3o qUT IU-3feh] o ST=wTd g1 ST ;
(a) WU AN
(b) ABH I

(© he=a
32. ‘gg feufa forawor qen ev-=1fa foemor < faf=r w1l & qww 3fua gay wnfya s w1

) forcfiar dTerdl Ta HHSITET 1 TgaE i hl Tk Uihan 2 1 Iued YA § Yeh1id
TTShAT hl & hITSTT qT 38k Tohal Q1 3221 ] Iooil@ HITIT |
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(b) Match the transactions given in Column — II with their correct category

given in Column — I for the purpose of preparation of ‘Cash Flow

Statement’. 1
Column -1 Column - 11
(a) Investing Activity (1) Interest paid

() Financing Activity (i) Purchase of Goodwill

() Operating Activity  (iii) Cash receipts from sale of goods
(a) (b) (c)

@ @) @ (i1)

B) (1) @) (i11)

© @ i) (D)

D) @) @) @)

Under which heads and sub-heads the following items will appear in the
Balance Sheet of Company as per Schedule III, Part-I of the Companies
Act, 2013 :

(a) Loose tools

Calls-in-Advance

Capital Reserve 3

‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items
of the balance sheet and the statement of profit and loss’. Identify the

process highlighted in the above statement and state its any two
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33. (a) T 9= @ SRfRes qen srfam weie i T i
Wieh TaRT AU — 4 TR
Gehel Y = J=Tel § 3T T 20%
Y=o | 37 = % 10,00,000
TRy Wieh, 3119 Wik 1 25% 2 |
Jreran
(b) e feAfree o1 For-uwar 3AqUTd 2 : 1 8 | RO Gfgd a3y foh fe oiet & or-
THAT JTATA ST, T ST FHH his Ui &l g :
@) ¥ 3,00,000, 9% FOTHAT BT THAT T H qREd |
(i) <TER & % 1,00,000 Y g I |
(iii) ¥ 10,00,000 % 11% FUTIAT T INEA |

iv) T 4,00,000 % HTeT T ITR 3T |

34. 9= HTeufeh HUF 1 afeu qum 3T AR 9 = feu T T991 o I i

T8 2019 ¥ arfefa 7 Fres foafies’ 9@ =1 39T wR-3m 3 fRa | e
fafiee w i @ e aTcfl 31 8 | T & Jid STl % HRU TR 3
ST & IHHT Y §G 2 |

31 UTH, 2022 1 g9 gU 99 o fore fbew fafies & feufa faawor o fre g sgfa
HIE

31 T, 2022 31w, 2021
®) ®)
TET 3791 it 90,00,000 60,00,000
11% oT9s 30,00,000 50,00,000
T (AT eI W) 28,00,000 20,00,000
R T Thhd qoasE 90,000 60,000
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(a) From the following information, calculate the value of opening and

closing inventory :
Inventory Turnover Ratio — 4 times
Gross Profit = 20% on Revenue from operations
Revenue from operations =¥ 10,00,000
Opening inventory is 25% of the inventory at the end.
OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the
following transactions will improve, decline or will not change the
debt-equity ratio :
(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i1) Cash received from debtors ¥ 1,00,000.
(111) Redemption of ¥ 10,00,000, 11% debentures.
(1v) Purchase of goods on credit ¥ 4,00,000.

Read the following hypothetical text and answer the questions given

below on the basis of the same :

Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year

because of the increasing awareness towards health.

Following information has been extracted from the Balance Sheet of ‘Fizz
Ltd.” for the year ended 31st March, 2022 :

31st March, 2022 | 31st March, 2021
® (Y
Equity Share Capital 90,00,000 60,00,000
11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on
Machinery 90,000 60,000
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safaiierR g
(i) 9% A T 4,00,000 AR 6T T HH T fersha T 30,000 o w1 TR Foram 7 |
(i) 9§ HefE o SR T gedstE 2 50,000 T |
(iii) 11% O W T R T STt Y U ¥ 5,50,000 oft |
(iv) THAT 37 W 3,00,000 o ATHI T PTAM fha1 717 |
(v) ROTYHT ST SNEH 31 7=, 2022 3T 10% it w o i |
Fopet faafires 1 fraw mifafaferr e fexfi nfafaftrr @ Jeke ware i TomT Aifsw |
I - &
fererea - 11
(crfreRfer SRaen)

(a) T899 a1 3ME-Uh H (BRM) 1 doh (ITRHS) T8 2
A) TE-A-F (F-T%-2)
B) T — IE — A (I — o — Hied)
(C) T —AfG — 318 (I — % — HicH)
(D) dfehes Tl (ATRSIhet 3)

Froqan
(b) el W Tl Tehleh b1 Tor Teharm STl & it feart Tt wrehate fers et & 2
A = B) =R
€ O) @
(a) THUH UoHE 4§ T & (Fleg) A fores o fore 3o foru S gepe ooy 3ferehan
A= (hiaeH) Y FEI R
A) 28 B) 32
(C) 64 D) 104
Jroran

(b) Teh3fie # Frsmfeq <61 78 srf<m fora <A1 Seted & foru o o & i ot shaie < it
2?7
@A) Ig B) =g
) = D) Tg

TH g T 318 (STe®Teey) 1T HerdTeR afthferd &1, aad & :
(A) hites (HeafireT) wiga

(B) @UE (i) High

(C) WA HIgH

(D) i Fgmeh (W) Higd
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Additional Information :
(1) During the year, a machine costing T 4,00,000 was sold at a gain of

T 30,000.
(11) Depreciation charged on machinery during the year was ¥ 50,000.
(111) Interest paid on 11% debentures amounted to ¥ 5,50,000.
(iv) Dividend of ¥ 3,00,000 was paid on equity shares.
(v) Debentures were redeemed at a premium of 10% on 31st March, 2022.
Calculate cash flows of ‘Fizz Ltd.” from ‘Investing Activities’ and
‘Financing Activities.’

PART - B

OPTION -11
(Computerised Accounting)

27. (a) Which of these is not a argument of the IF function ? 1
(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
(b) How many blank worksheets are shown when a new workbook is
created ? 1
(A) Three (B) Four
(C) One D) Two

28. (a) Maximum number of characters that can be used to write a field

name in MS Access is : 1
(A) 28 B) 32
(C) 64 (D) 104
OR
(b) Which of the following command reverses the last action performed
in the worksheet ? 1
(A) Undo B) Cut
(C) Paste (D) Redo
29. Codes comprising of alphabets or abbreviation are known as . 1
(A) Sequential codes (B) Block codes
(C) Number codes (D) Mnemonic codes
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30. FAd A A g T hI A& 2 2
(A)  Alehel o1 BHT T (Free)

(B) IR Tl
(C) TR 1 Ufekd T Uferd b1 T8 T of ST
(D) ATehel i S AT T AR T& HL HAKAT R |

31. TRETRA a1 Jured! i f Iu-somferli st q9Emse -
(a) THI U AT <F IT-JUTTeA]
(b) NI TR IT-TUTTeA

32. U HeH 1 31¢ T | “EUF T Hed® TUT YUl HA HGH® T TIHG HITT |

33. (a) W Tsh I IRYTNG HIRTT TUT Teh @i wsh H HfRIfoTd STaqTadl bl

REEIERY
Jreran
(b) ARl crETR JUITCR o FUEITCHe 1Y o &9 § TTHTE TR qT ‘ST 3Aftse’
%1 319} T8 HIfT |

34. 39 3Yfg HT A FARY S T Tehe Bl & T Hal ded (XBF) 39 T g | IJoo@
HIRT o o7 Fr3Ifig HO wxiiferd 6l <1 whd1 2 |
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30. Which of the following is not the advantage of Pivot table ?
(A) Filtering of data
(B) User-friendly
(C) Moving rows to columns and columns to rows

(D) Cannot summarise large amount of data

31. Explain the following sub-systems of Accounting Information System :
(a) Purchase and Accounts payable sub-system

(b) Costing sub-system.

32. Give the meaning of ‘Cell reference’. Differentiate between ‘Relative Cell
reference’ and ‘Absolute cell reference.’

33. (a) Define Accounting cycle and state the phases involved in an
Accounting cycle.

OR

(b) Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System.

34. Name the error which appears when the cell reference is not valid. State
how this error can be corrected.
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